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Problem #1
Write assembly to:
— move value 1 into %eax
- add 10 to it and put result into %eax

movd $1, obuax

adddL $10, /o e0x

Problem #2 -
Expression: 3 +16 * 2
Use one register (%eax), and 3 instructions to compute this

mz:wx 4—5[7 To GAX

i’muu /;{l)) \‘/O 20X

rw

ce-by-piece

Problem #3

movl $0,
movl $7,
movl $3,

movl $O0,
movl $9,
movl $2,

$edx
$eax
%ebx

idivl %ebx
movl %eax, %ecx

$edx
%eax
Sebx

movl %edx,

$

idivl %ebx

addl %ecx,

%eax

A=,

Write simple C expression that is equivalent to these i

nélructions




Problem #4 (from CSAPP 3.1) . : K'\\
\
Memory W\Qv‘Q % LOX } R _
! . _

Address Value Kﬁwwwwﬁ

0x100 {OxFF D - , .
0x104 (OxAB ) |

0x108 a\g«xl%D DX fT}@
0x10C T Tl\

"’ —) a !.,,,.___..*Rm_._,)

i ]

Registers \/{ ‘ ; R

%Seax 0x100 M/D gx (Z% [

st B S
%ecx 0x1
$edx 0x3

ey OXI00_
o104 OxAb
0108 _0x|08
bR
i (vea) DX
o (xenx, tedn Ox 1] addy = A 4+ 0xop +0x3
260 (3ecx, %edx) Ox(3 E [o0

- + X003
OxXFC{(, %ecx, 4) 97< FP -,-’_,(_{__KD
A (03

420X X,

//’”“\
o= 4+ & 00 = O 104

($eax, %Sedx, 4) M . F@XOOC}




